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QUESTION 1

Where should a network admin navigate to investigate wireless mesh information between Meraki APs?
A. Wireless > Monitor > Access Points > AP > RF

B. Wireless > Configure > Radio Settings

C. Wireless > Monitor > Wireless Health

D. Wireless > Monitor > RF Spectrum

Correct Answer: A

QUESTION 2

Which Meraki Dashboard menu section is accessed to enable Sentry enrollment on an SSID?
A. Wireless > Configure > Access Control

B. Wireless > Configure > Splash page

C. Wireless > Configure > Firewall and Traffic Shaping

D. Wireless > Configure > SSIDs

Correct Answer: A

Reference: https://documentation.meraki.com/MR/MR_Splash_Page/Systems_Manager_Sentry_Enroliment

QUESTION 3

What are two ways peers interact with ports that Auto VPN uses? (Choose two.)
A. For IPsec tunneling, peers use high UDP ports within the 32768 to 61000 range.
B. Peers contact the VPN registry at UDP port 9350.

C. For IPsec tunneling, peers use high TCP ports within the 32768 to 61000 range.
D. Peers contact the VPN registry at TCP port 9350.

E. For IPsec tunneling, peers use UDP ports 500 and 4500.

Correct Answer: AB

Reference: https://documentation.meraki.com/MX/Site-to-
site_VPN/Meraki_Auto_VPN_-_Configuration_and_Troubleshooting
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QUESTION 4

Web App Health  for Google - for the last week -

Network #2 E
LAN WAN SERVER ;

S:

Ewii

” VIEW TRENDS

Network #1
LAN WAN SERVER

¥ VIEW TRENDS

Refer to the exhibit. What are two outcomes reflected in the Web App Health application? (Choose two.)
A. Users on both networks may be experiencing issues when attempting to reach Google.

B. Network #1 could not load Google because of a remote server issue.

C. Network #2 had better application performance than Network #1.

D. Network #2 could not load Google because of a local client misconfiguration.

E. Neither network recorded any server-side performance issues.

Correct Answer: AE

QUESTION 5
A customer wants to use Microsoft Azure to host corporate application servers.

Which feature does the customer get by using a vMX appliance rather than connecting directly to Azure by VPN?

Latest 500-220 Dumps | 500-220 PDF Dumps | 500-220 Braindumps 3/4


https://www.geekcert.com/500-220.html
https://www.geekcert.com/500-220.html
https://www.geekcert.com/500-220.html

VCE & PDF https://lwww.geekcert.com/500-220.html
2024 Latest geekcert 500-220 PDF and VCE dumps Download

GeekCert.com

A. malware protection

B. SD-WAN

C. next-generation firewall
D. intrusion prevention

Correct Answer: B
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